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= 81,648
Al 151,632
OMNZAIZE AEIER J2R2Y BE8a 27,064
—20AIEEES 76,900 128 x12& 11,074
= 3,876
Al 7,198
— 20AHALEEES 55,000& 128 x12& 7,920
= 2,772
Al 5,148
— A RYEE = 72,5003 128 870
= 304
Al 566
—1N888s 30,000& x12H = 12& 4,320
= 1,512
Al 2,808
—MTHEE 2 20,000& x12H x12& 2,880
= 1,008
Al 1,872
ALS SR K| & 8,000 8,000 0
307 120l d 8,000 8,000 0
02 QI2tFAAMNHEX 8,000 8,000 0
= 0ff A 8,000 8,000 0
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ol Mols A 2EEAH (2@
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SA B S (SH) - MEMY - BES (ZE o) (3] o) BlRE2
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4,000,0002! *13] 4,000
ONISA ZTS 4,000,0002! 13| 4,000
Ay2A 2Y 43,200 43,200 0
201 sregyl 43,200 43,200 0
01 At el 43,200 43,200 0
= 0 & 43,200 43,200 0
odg, BN P==
13,0008 %105 *8H 2 + 122 12,480
ORTAE PEE
32,0002 *10Z5 *4JH 2 122 15,360
OAHZS A U 2  3,840% 1,000 43l 15,360
L9HNE SANE AY =X 27,200 20,400 6,800
201 Ystegl 7,200 7,200 0
01 At el 7,200 7,200 0
= 0] & 7,200 7,200 0
OAQHS & 0TI ®2 DS
500, 0008 *23] 1,000
OAQHNE SHZ2I LA
70,0002 *52 %103] 3,500
OZ21% 2% M2 P 300,0008 43l 1,200
OSHEZZIY 28 X2 Y TA7Y
15,0002 * 1002 1,500
01 LB 20,000 3,200 6,800
12 JEEs3 20,000 13,200 6,800
= 0 4 20,000 3,200 6,800
OA2HE SHIE MY
10,0002l x20% #1041 %103 20,000
SHEH MY E=X 256,700 553,760 297,060
201 Yur2YHl 166,700 93,700 73,000
01 At el 156,700 87,700 69,000
=0 4 56,700 87,700 69,000
ONY SA ZY 8,500
—MRABAS TAHPY
10,0002 x2 2 %2502 5,000
-SASol2 9y 2T
500, 0008 *53] 2,500
—SMSOtE 938 L RENE MF
500,0002 *23] 1,000
ORDANUAY SADS Z208 =9 6,000
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Mols TA EAEA
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SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 86,000 32,000 54,000
OFPIs &) Y RoFEH P
33,000, 0003 *24] 66,000
OBME == Y IHUA ALY
20,000,000 14! 20,000
ChEstMHIA X ALE 7,000 0 7,000
2 4,900
Al 2,100
201 282 A | 7,000 0 7,000
= 4,900
Al 2,100
01 Ar®2telt] 7,000 0 7,000
= 4,900
Al 2,100
= 0l & 7,000 0 7,000
= 4,900
Al 2,100
OZz g 2HAHHI 6,400,000& * 14! 6,400
= 4,480
Al 1,920
Oz € Mzl 600,000 =14 600
= 420
Al 180
SAEASIE Fs 2#FIA 555,470 488,321 67,149
SN2 JIE AMNEE |AX 354,302 220,253 134,049
101 [Slals] 197,862 63,813 134,049
04 JIZtHIZ2ZNSE S 197,862 63,813 134,049
= 0l & 197,862 63,813 134,049
TN FTY EAHEE 21| 45,917
AR==] 66,800& x5H x104 34,736
—F5g 8,350& *3.2A] 2+ x5 x52 6,948
—=20d3 41,684,000& *4.5% 1,876
—2ALE8E 41,684,000& *3. 12% 1,301
- 1188E 41,684,000& *1.5% 626
—MHEE 41,684,000& *0.8% 334
— &) YEE 1,300,540& *7.38% 96
O M2 =2 SZFHl oAy 18,370
—-Jlega 66,800& *2H x104 13,895
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— YR 16,674,0002 *3.12% 521
-182d 16,674,0002 *1.5% 251
— M 16,674,0002 x0.8% 134
S -PlE=Et 521,0002 *7.38% 39
OZHZ BY AT AAY| 110,372
~Jl=2 66,8002 558 x212! 128 84,168
— x4y 66,800 *5% x4 +122 16,082
—=3003 100,200,000 *4.5% 4,509
— Ay 100,200, 0002 3. 12% 3,127
-1828 100,200, 0002 *1.5% 1,503
— AT 100,200, 0002 0. 8% 802
-2 RYDY 3,127,000 +7.38% 231
OZHZ HZE o ZAB2 o2yl
83, 13021 #1234 x52 #6.3] x4 )} 2t 9,976
OZHZ 2#I| 2 =8 4 o2l
66,8002 *1% 32 x43| x4 74 2 3,207
OJNAHZRN =D 1,670,000 *6& 10,020
201 Yuredyl 156,440 156,440 0
01 AtR2lY| 118,440 18,440 0
=0 &t 118,440 118,440 0
OS2I BIIHA ++8  130,0002 «674 2 780
OFIINE BIBMN 228
45000021 *67H 2 2,700
ONANE HIBAN 242
100,000 *174 2 100
OASAE BIBN 242
350,000 *6JH 2+ 2,100
ORIIGEBRITY 242
150, 0002 *67H 24122 10,800
OF4I1,BIFII HHALE
4200008 77} 2122 35,280
OBSZE B 448 350,000 *47H 2+ 1,400
OZHZ geiars 200,000 *77H 2«23l 2,800
ONSIEAAE B2l B
20,0008 *77H 2t * 128 1,680
ORI HBHIAAE 29
1,600,000 *87H 2+ 12,800
OZHEZ OFZMBAIZ SIZH B
2,000,000 *2JH A 128 48,000
02 ZZ2Y| 38,000 38,000 0
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200,000% *5J4 2 1,000
OStEA MO & HIIS &2
50,0002 x6IH 2t 23] 600
Ogga, NRA HOZ L MUHEA
200,000 64 2 1,200
OYMHN 45 ¢ DEH 7L
100,000& =64 2 600
ogsY RIE+ 150,000 *6IH 2t x13] 900
O&EAM& AIZZEHI =AY
1,500,000 «8IH 2t 13| 12,000
OEAM& 2 FAH
1,000,000% *1JH 2t +13| 1,000
OEM& W 2X 20| & =H
800,000& *6IH 2t *13] 4,800
Ol gz 29 2,500,000 *6IH 2 15,000
HESIAIAE S22 201,168 268,068 A 66,900
207 A 130,668 246,668 A 116,000
02 ™ AHH Y] 130,668 246,668 A 116,000
= 0l & 130,668 246,668 A 116,000
Osgt Mz EHO0IX |X2al
140,000, 000& *10% 14,000
OCXIg4a s/Ww sXl22l 200,000,0002 *10% 20,000
OANBESM2 AH(ZS 22, 8, 20k o,
EIOICIOf, ol 2k 2tel) 500,000, 000& *7% 35,000
OYATBAAE X 22
100,000, 000& *10% 10,000
O NM2AAE L H2EM2 SAH22 Al
A RRAES 150,000, 000& *10% 15,000
oz & T2 S . GRAAE KA
22| 100,000, 000& *10% 10,000
OZ el S22
21,000,000 *10% 2,100
OS8EMAMEIA FRIZE
25,680, 0002 *10% 2,568
O MEZIAIAE MHE HAZZ2 S (S/W
)7 500,000 *4CH 2,000
OZEHOXN HHZHE A&
6,000, 000& =34 18,000
OQIZ2HOt0l® AMEIA AFE 2,000,000 *14] 2,000
405  RHA&FFE S 70,500 21,400 49,100
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Y 2 JUS FT= TAHZRI XM (2ILEZ /20 =)
oo SHBASAE FIE BN CER-E
SA BB (AH) - HBAY - BA= o) ) HDE 2
01 MMLSESSH 70,500 21,400 49,100
=0l & 70,500 21,400 49,100
OKW A<9IXI WA 5,000,000 *1 5,000
OMH Y3t 2 33,000, 0003 *14] 33,000
OE M2 gt & 2o Fyl 2 32,500
— %3 Zd 2 15,000, 0003 *14] 15,000
— 520 Zdl 2 2,500,000 *7H 17,500
AMBSCA AAHMD (LS SHE/LPHT) 56,012 38,922 17,090
AMNAZE XMAHA 22| 56,012 38,922 17,090
ANE s 22| 56,012 38,922 17,090
101 ol4d| 6,012 5,422 590
04 JI2ZtHIZ22HSE* 6,012 5,422 590
= 0l & 6,012 5,422 590
ONEXE +8mEel Y 222 o2l
66,800 x1H 90! 6,012
201  et2g| 10,000 13,500 A 3,500
01 AtR2e2ldl 10,000 13,500 A 3,500
= Ol & 10,000 13,500 A 3,500
OANEtz =F0l HE 22 NE
500,000& *25 *13| 1,000
OANEXE B8 S48t 7
100,000& *5MI E 500
OJIsXas 228 M 100,000 *15MI E 1,500
OMEXRZ IS ZAHIH &
200,000& 53] 1,000
OSEAA HAIZ HIF HH
100, 000& *254 2,500
OSEGAN EAlE &5 MZE 20,0002 503 1,000
ONEAZE MEH 50, 000& x50 2,500
405  RhAHHE S 40,000 0 40,000
01 &ML SSFHSHI 40,000 0 40,000
=04 40,000 0 40,000
OANEXE2 NEAN & TSNP
1,000, 000& =403 40,000
HE2AZU (222G ) (IIEH/DIE 315,885 328,239 AN 12,354
ol 2| 211,797 220,491 A 8,694
ol 24| 211,797 220,491 A 8,694
101 o124l 211,797 220,491 A 8,694
01 2= 211,797 220,491 A 8,694
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M HE2IALH(EAMZ2G ) (IIEH/IIE
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SA-HB - BAEH)  NRAY - BES =z T HRE 2
= Ofl &F 211,797 220,491 A 8,694
OAlZtel 22+¢
10,2993 312 x30A1 2+ x 12 114,937
OsgZfs< 82,786& x10F 117 96,860
Jl2&dl 104,088 107,748 A 3,660
Jl=dl 104,088 107,748 A 3,660
201  LEr2E | 21,288 22,788 A 1,500
01 ArR2teltl 21,288 22,788 21,500
= 0l & 21,288 22,788 A 1,500
OJlg ARE3Hl 100,000& 15 1,500
on=2d S+t 300,000& =63l 1,800
Og =MD KXY 300,000& = 1CH *43] 1,200
ZoEey EH 2 750,000& *63l 4,500
OJI2g&fFd S22 Al
8,000 x16H 8L «12& 12,288
202 OdHl 76,800 79,200 A 2,400
01 2L 76,800 79,200 A 2,400
= Ofl & 76,800 79,200 A 2,400
OJl=gf+d 2UH=Z 0
20,0003 x32F 10 x12& 76,800
203 YR=IH| 6,000 5,760 240
04 BEN2SHRFIHI 6,000 5,760 240
= 0l & 6,000 5,760 240
ORM2ZE A2 500,000& x12& 6,000

- 352 -




